=

MeE&37 128 ERFieke TREE [HILiy] &7 -F i 4 =8

Z‘L,%E:ﬁ%gs A,\ ) ;1_—_: 100 Au\
- HEHFEY KRR ATRE A ATk B AR Y 5 20% KA AR 5 30% EFH R
#7303k FER L HRR L F T Ao

1 402 e v

B 2 24 =0 0 Mmoo kiRl s
1
m+z
5

Ny
i

©dem ko

L
12}

cirqg b ez BEBEEa+b+ctabc=149 > FR|la—b|+|b—c|+|c—alz

c(2¥A%A)

Ty =2xy

B FGEIANMO) =xt+pxdtgx+rx+s ¢ wf(1)=2:f2)=5f3)=10"

o

HRY@(—D=____



o

6. AHET G b v BA8,—3) B(4,—5) ~C(0,c) *D(d,0) > ¥ = #2,ABCDY £ $ | FF > fc+d =

7. 4B BC:CD=1:2>CA:AE=1:3-AB:BF=1:4>

¢ sz & 2,ABCHd #f 5 1 B= & 7;DEFa #f & °

8. 4Bl F=4,4BC> A BB AZE B bR y=x>1 » AABC :hE & G &
yiht BACE yhT 7o ER AP EEL a (a>0) B a= ° C 2

¥

9. dek 7+ VABR S F | Hco WABINA L ao MBS S b Bl—— + 22 4 o

a+b

10. ® a,b,c,d 5§ # > abcd0 > * a+b+c+d=0- B

(rted)eo(riedrclriedealinied) i



e L

T1x2Xx3  2X3x4  3x4X5 14x15%x16

1 1,11, ., " . .
(x+1)y + x+1 + y 105m‘II Fdltt (x,y) P&

12, % &7 250

13. BRay ap ~az . a5 EELBI 0 2L EV2 0 P A0 54445

2 2 2 2 2 2 2 2 2
X az as ay as ag a;z ag ag aio 5
- 1B

7
a;Xaz  a;Xa, AazXas agXdg As5XA7;  AgXAg AyXAg9  AgXAqy  AgXdqq

14. @ wAABC 2. = :f ¢ &L » % 5 9,12,15 5 RIAABC s #f 5

15. oWl > &% 3F £AABCY » AB=1°2A=90°> 2-E 3 ACH¥ %>
2 F 4BC} » * EF L BE » RACEF# & ff °




16. #f(x) = v1— x + | x —% b Eimo ol Eino B m*4+nf=

17 f P+2343P+ . 202P it £ -

18. 2 [x]4 7 | %t & % 3txchd X Bl blde 1 [3.1] =3 [-14] = —2

w3 s R+ |+ | |+ [r S| e [ | = 546 A[1007]= g

19. 4B > ®%- PPl 2800 2 AB R Flip>r > 8 4> AB=6- 2D % FIp - B

BD:F O* 8 C>* BC=CD=3> 0D =2 B|fl&L/c s °

20. = af()=2%+3x+6-0 f(VVZ+1 - YV2-1)= .



